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cl:rand([7,8]);

rw:rand([4,5,5,6]);

rk:rand([2,3,3,4]);

/* Randechelon (STACK) */

RndNZ(n) :=(-1) " (rand (2) ) *(rand (n)+1) ;

/* Return which column is first non-zero entry of i-th row vector */
getFirstNZ(M,1i) :=block([t,p,q], [p,ql :matrix_size(M),if M[i]=makelist(0,q) then
return(q+1l) else for t: 1 thru q do (if not M[i,t]=0 then return(t)));

/* reduced echelon form */

redeche (M) :=block([p,q,r,i,j,t], [p,ql :matrix_size(M),M:echelon(M),r:rank(M),if r=1
then return (M),for i:r thru 2 step -1 do (j:getFirstNZ(M,i),for t:1 thru i-1 do
(M:rowop(M,t,1,M[t,j1))),M);

/* randechelon : random echelon form */
randechelon(il,j1,pv,cL):=block([i,j,ret],redeche(genmatrix(lambda([i,jl,if i>length(pv)
then 0 elseif j < pv[i] then O elseif j=pv[i] then 1 else rand(cL)),il,j1)));

pvL:random_permutation(makelist(i,i,1,cl));

pv:sort(makelist(pvL[i],i,1,rk));

matF:randechelon(rw,cl,pv, [-5,-4,-3,-2,-1,-1,0,0,1,1,2,3,4,5]);
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/* MC setting */
cwnL:random_permutation(rand([[1,3,3],[2,2,3]11));

cnl:cwnL[1];cn:cni;

‘ wERH, REBENRY—VHORE

wnl:cwnL[2] ;wn2:cwnL[3] ;wn:wnl+wn2;

/* common function */

chkRank (pp,rr) :=is (rank (apply(addcol,makelist (col(matF,pp[il),i,1,length(pp))))=rr);
/* ListAL1 x/

ListAL1: [makelist(alpv[ill,i,1,rk)];/* default */

mkAL1 (kmax) :=block([k,k1,pL,pp] ,k1:0,for k:0 while (k<kmax and length(unique(ListAL1))
<=cn1+2) do (kl:k,pL:random_permutation(makelist(i,i,1,cl)),pp:

sort (makelist (pL[i],i,1,rk)),if chkRank(pp,rk) then ListAL1:append(ListAL1,
[makelist(alpp[il],i,1,rk)])),return(kl));

tmp :mkAL1(1000) ;

ListAL1:unique(ListAL1); \ wl) 2 NDEFEERL (BEE)

/* ListBL1: insufficient case */

ListBL1:makelist([a[il],i,1,cl);

ListBL1:if rk>2 then append(ListBL1, [[alpv[1]],alpv[2]]1]1]) else ListBL1;
ListBL1:if rk>2 then append(ListBL1, [[alpv[1]],alpv[3]]1]]) else ListBL1;
ListBL1:if rk>2 then append(ListBL1, [[alpv[2]],alpv[3]111]1) else ListBL1;
ListBL1:if rk>3 then append(ListBL1, [[alpv[1]],alpv(2]],alpv[3]]1]1]) else ListBL1;

ListBL1:unique(ListBL1); | wl) 2 NOEFERS (BEE)
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/* ListBL2: rank mismatch */

ListBL2:[];

mkBL2 (kmax) :=block ([k1,k,pL,pp],for k:0 while (k<kmax and length(unique(ListBL2))<=wn2+2) do
(k1:k,pL:random_permutation(makelist(i,i,1,cl)),pp:sort(makelist(pL[i],i,1,rk)),if not
chkRank (pp,rk) then ListBL2:append(ListBL2, [makelist(alpp[ill,i,1,rk)])),return(kl));

tmp :mkBL2(1000) ;ListBL2:unique (ListBL2) ;

/* Correct List */

CorL1:random_permutation(makelist([i,true,ListAL1[i]],i,1,length(ListAL1)));

/* CorL2:random_permutation(makelist ([i+20,true,ListAL2[i]],i,1,length(ListAL2))); */

/* Wrong List */

WrgLl:random_permutation(makelist ([100+i,false,ListBL1[i]],i,1,length(ListBL1)));

WrgL2:random_permutation(makelist ([200+i,false,ListBL2[1]],i,1,length(ListBL2)));

va:random_permutation(append(makelist(CorL1[i],i,1,cnl) ,makelist(WrgL1[i],i,1,wnl),
makelist (Wrgl2[il,i,1,wn2)));

Cansl:mcq_correct(va);

FHR9—2ik i (4 < 100)
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/* ansL (% id @7 % 10 TH o ZERLBENRX—v DY A b */
ansL:map (lambda([u] ,floor (u/100)) ,ansl);

/* alen Fxv 7% ANE */

alen:length(ansi);

/* CamsL [0,0,...,0] ansL & —ETNILIEM */

Calen:cn;

CansL:makelist(0,i,1,Calen);

count0(L) :=block([ct,i],ct:0,for i:1 thru alen while i <= alen do if L[i]
/% ct0 Fxv I D5HDIEMDE */

ct0:countO(ansL);

/* scO JAHELBGEIRME TR T N B3 5 +/
sc0:ct0/cn-(alen-ct0) /wn;

/* scL STACK DAIKIZ & 285 s AT 572D T/F flag Y A b */
scL:makelist(is(sc0>=0.1%i),i,1,10);

/* flgl, ... MERX VT I +/

flgl:member(1,ansL);

f1g2:member (2,ansL) ;

f1g0:is(ct0 < cn);

= 0 then ct:ct+l,retu

flg0 : EfEETRTERL TV AW scL: IEfBUCIG U7z true,false MDES!
flgl : BBENRY—v 1 2FER wPRT TEHORDRE

flg2 : BRBE/NY—> 2 %ER
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	何故多肢選択問題か？

